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Section : General Awareness
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Section : Arithmetic Ability
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Q.2 A, Band C alone can complete a piece of work in 20 days. 30 days and 60 days respectively. They started the work
together but A and B both left 5 days before the scheduled completion of the work. In how many days, C alone will
complete the remaining work?

Ans o 1. 30
<2 20
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Q_7 6 cubes, each of edge 2 cm are joined end to end to form a cuboid. What is percentage decrease in surface area? (correct
to one decimal place)
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Comprehension:

The following table gives the marks obtained by students in the given
class intervals. Read the table and answer the questions.

Class 0-10 10- 20- 30- 40- 50- 60- 70-
Interval 20 30 40 30 60 70 30
No. of 5

Students 24 28 36 44 46 X 20 10

SubQuestion No : 19

.1 . o . .
Qg If value of x is taken as 32 and the Pie-chart is drawn, Question ID : 162653670

what will be the central angle of the sector representing
the median class?

Ans X 1. 64
X2 65
V'3 66
X 4 62

Comprehension:

The following table gives the marks obtained by students in the given
class intervals. Read the table and answer the questions.

Class o.10] 10- ] 20- T 30- T 40- [ 50- [ 60- [ 70-
Interval 20 | 30 | 40 | 50 | 60 | 70 | 80
E;;;fm 24 | 28| 36 | 44y |pl46- |, X @l 20 |=10
SubQuestion No : 20
@2 If mean marks of the students is 37.64, what is the Question ID : 162653669
value of x7
Ans of 142 a
X2 44
K3 45
< 4 40

Section : General English

Q_1 Fill in the blank.
Question ID : 162653679

The man at your local coffee shop has never left the country but speaks as though he has lived in London all his life! His
British accent is an

Ans 1. abrasion
/< 2. affirmation
W 3. affectation
& 4 accumulation

Q.2 Fillinthe blank,
Question ID : 162653675

You might your ability to sing well to the thousands of rupees your parents spent for music lessons.

Ans  of 1 impute

/< 2. incorporate
< 3 utilise
/< 4. propagate

Q3 What is the ANTONYM of Strait? Question ID : 162653680

Ans o 1. Wide
/< 2. Situation




/< 3. Pass
< 4. Narrow

4 3 .
Q4 wWhat is the ANTONYM of Moot? Question ID : 162653682

Ans o 1. Incontestable
#< 2. Controversial
< 3. Irrelevant
#< 4 Unsettled

Q5 What is the SYNONYM of Metaphysics? Question ID - 162653685

Ans X 1. Disbelief
/< 2. Scepticism
#< 3. Pluralism
« 4 Ontology

6 -
Q6 What is the ANTONYM of Probate? Question ID : 162653684

Ans 2 1. Validate
#< 2. Formalise
« 3. Contradict
#< 4 Corroborate

Q.7 Fillin the blank.
Question ID : 162653676

If an employee strays from procedure for his own interests, his superiors may him from his position.

Ans 1. diverge
X 2 debilitate
#< 3. dither
W 4 divest

Q8 WWhat does the colour ‘Sable’ indicate? Question ID : 162653678

Ans x 1. BBigB
v 2 Black
x 3. Violet
< 4 Blue

Q-9 Sharma said that the turbidity in the segments of the river in India could be because of construction debris flowing
ORI Question ID : 162653677

‘What does the word turbidity mean in the above sentence?

Ans  of 1. Murkiness
#< 2. Instability

/< 3. Directionless
/< 4. Nippiness

Q10 1dentify the sentence that is set a third person plural form. Question ID : 162653672

Ans 1. Krishna knew Draupadi was in trouble.
7< 2. "T am leaving!" she yelled.
/< 3. Radha watched a movie last night.
« 2 They were very tired.

Q11 What is the SYNONYM of Tenure? Question D : 162653683
Ans x 1. Wane
< 2. Relegate

/< 3. Delegate
+ 4+ Incumbency

Q.12 (




Choose the correct sentence. | Question ID : 162653674

Ans 1. The car an truck is in the backvard.

o 2. This sentence is incorrect.
/< 3. We are going to there house.

/< 4 The work have to be done by Monday.

Q13 (hoose the correct sentence. Question ID : 162653673

Ans  f 1. We are learning English.

7< 2. T have too cats.
< 3. I went now.

/< 4 You chair is brown.

Q.14 What should the endi tuati k be for th t below?
should the ending punctuation mark be for the sentence below Question ID : 162653671

Hey! Can you hear me

Ans X1 .
X2
K3
N

Q15 What is the SYNONYM of Suppliant? Question ID : 162653681

Ans 1. Demanding

« 2. Pleading

/< 3. Lackadaisical
/< 4 Half hearted

Comprehension:

Read the following passage and answer the questions given
after it.

Govindappa Venkataswamy (1 October 1918 —7 July 2006)
was an Indian ophthalmologist who dedicated his life to
eliminate needless blindness. He was the founder and former
chairman of Aravind Eye Hospitals, the largest provider of eye
care in the world. He is best known for developing a high
quality, high volume, low-cost service delivery model that has
restored sight to millions of people. Since inception. Aravind
Eve Care System (a registered non-profit organisation) has seen
over 55 million patients, and performed over 6.8 million
surgeries. Over 50% of the organisation's patients pay either
nothing or highly subsidised rates. Its scale and self-
sustainability prompted a 1993 Harvard Business Case Study on
the Aravind model.

Born on October 1st in 1918 in Tamil Nadu, India, Govindappa
Venkataswamy was the eldest of five children in a farming
family. He walked two kilometers to school each day and his
early lessons were written in sand from the riverbed. There
were no doctors in his village, and by the age of 10 he had lost
three cousins due to some complications. The untimely deaths
spurred his decision to become a doctor. As a young man, he
followed the teachings of Mahatma Gandhi, Swami
Vivekananda and Sri Aurobindo. In 1944.

Venkataswamy received his medical degree from Stanley
Medical College in Madras, graduating second in his class. In
1951 he qualified with an MS in Ophthalmology at Government




Ophthalmic Hospital, Madras. Immediately after receiving his
medical degree, Venkataswamy served as a physician with
the Indian Army for three years.

Venkataswamy was permanently crippled by rheumatoid
arthritis at age 30. He trained as an ophthalmologist. In 1956, he
was appointed as the head of the Department of Ophthalmology
at the Government Madurai Medical College and eye surgeon at
the Government Erskine Hospital in Madura. He personally
performed over 1,00,000 eye surgeries. As a government
servant he helped develop and pioneer the concept of eye camps
and received a Padma Shri from the Government of India in
1973.

In 1992, Venkataswamy and partners of Aravind founded
Aurolab, an internationally certified manufacturing facility that
brought the price of the intraocular lens down to one-tenth of
international prices, making it affordable for developing
countries. Today, Aurolab manufactures ophthalmic
pharmaceuticals, instruments and equipment, in addition to
intraocular lenses, and exports to 160 countries worldwide.
Venkataswamy pioneered mobile eye camps with the
government, and later implemented this practice at Aravind.
Teams of doctors and nurses from Aravind regularly visit rural
villages where they conduct 'eye camps' that screen patients for
vision impairments. Those requiring glasses receive them on
site. Patients requiring surgery are brought back to an Aravind
hospital, where they receive surgery, room and board, return
transport and a follow up visit at no charge. Each year Aravind
hosts over 2,500 camps, averaging 40 camps every week with
500 community partners.

SubQuestion No : 16

Q.'I . .. " . -
¢ Which of the following indicates that the economic Question ID : 162653688

condition of Govindappa Venkataswamy was NOT
very good?

Ans o' 1

His early lessons were written on the river sand.
#< 2. He was the eldest of five children.
/< 3. He was born in a farming family.

/< 4 He walked two kilometers to school.

Comprehension:

Read the following passage and answer the questions given
after it.

Govindappa Venkataswamy (1 October 1918 — 7 July 2006)
was an Indian ophthalmologist who dedicated his life to
eliminate needless blindness. He was the founder and former
chairman of Aravind Eye Hospitals, the largest provider of eye
care in the world. He is best known for developing a high
quality, high volume, low-cost service delivery model that has
restored sight to millions of people. Since inception, Aravind
Eye Care System (a registered non-profit organisation) has seen
over 55 million patients, and performed over 6.8 million
surgeries. Over 50% of the organisation's patients pay either
nothing or highly subsidised rates. Its scale and self-
sustainability prompted a 1993 Harvard Business Case Study on




the Aravind model.

Born on October 1stin 1918 in Tamil Nadu, India, Govindappa
Venkataswamy was the eldest of five children in a farming
family. He walked two kilometers to school each day and his
early lessons were written in sand from the riverbed. There
were no doctors in his village, and by the age of 10 he had lost
three cousins due to some complications. The untimely deaths
spurred his decision to become a doctor. As a young man, he
followed the teachings of Mahatma Gandhi, Swami
Vivekananda and Sri Aurobindo. In 1944.

Venkataswamy received his medical degree from Stanley
Medical College in Madras, graduating second in his class. In
1951 he qualified with an MS in Ophthalmology at Government
Ophthalmic Hospital, Madras. Immediately after receiving his
medical degree, Venkataswamy served as a physician with
the Indian Army for three years.

Venkataswamy was permanently crippled by rheumatoid
arthritis at age 30. He trained as an ophthalmologist. In 1956, he
was appointed as the head of the Department of Ophthalmology
at the Government Madurai Medical College and eye surgeon at
the Government Erskine Hospital in Madura. He personally
performed over 1,00,000 eye surgeries. As a government
servant he helped develop and pioneer the concept of eye camps
and received a Padma Shri from the Government of India in
1973.

In 1992, Venkataswamy and partners of Aravind founded
Aurolab, an internationally certified manufacturing facility that
brought the price of the intraocular lens down to one-tenth of
international prices, making it affordable for developing
countries. Today, Aurolab manufactures ophthalmic
pharmaceuticals, instruments and equipment, in addition to
intraocular lenses, and exports to 160 countriessworldwide.

Venkataswamy pioneered mobile eye camps with the
govermnment, and later implemented this practice at Aravind.
Teams of doctors and nurses from Aravind regularly visit rural
villages where they conduct 'eye camps' that screen patients for
vision impairments. Those requiring glasses receive them on
site. Patients requiring surgery are brought back to an Aravind
hospital, where they receive surgery, room and board, return
transport and a follow up visit at no charge. Each year Aravind
hosts over 2,500 camps, averaging 40 camps every week with
500 community partners.

SubQuestion No : 17

Q; Which of the following happened first in Venkatasamy’s

Question ID : 162653690

life?
Ans X' 1. He qualified for MS in Ophthalmology.
X 2

He was stricken by rheumatoid arthritis and was crippled permanently.
o 3. He served for three years in the Indian Army.
F

He became the Head of Department of Ophthalmology

at Government Madurai Medical College.

Comprehension:

Read the following passage and answer the questions given




after it.

Govindappa Venkataswamy (1 October 1918 — 7 July 2006)
was an Indian ophthalmologist who dedicated his life to
eliminate needless blindness. He was the founder and former
chairman of Aravind Eye Hospitals, the largest provider of eye
care in the world. He is best known for developing a high
quality, high volume, low-cost service delivery model that has
restored sight to millions of people. Since inception, Aravind
Eye Care System (a registered non-profit organisation) has seen
over 55 million patients, and performed over 6.8 million
surgeries. Over 50% of the organisation's patients pay either
nothing or highly subsidised rates. Its scale and self-
sustainability prompted a 1993 Harvard Business Case Study on
the Aravind model.

Born on October 1st in 1918 in Tamil Nadu, India, Govindappa
Venkataswamy was the eldest of five children in a farming
family. He walked two kilometers to school each day and his
early lessons were written in sand from the riverbed. There
were no doctors in his village, and by the age of 10 he had lost
three cousins due to some complications. The untimely deaths
spurred his decision to become a doctor. As a young man, he
followed the teachings of Mahatma Gandhi, Swami
Vivekananda and Sri Aurobindo. In 1944.

Venkataswamy received his medical degree from Stanley
Medical College in Madras, graduating second in his class. In
1951 he qualified with an MS in Ophthalmology at Government
Ophthalmic Hospital, Madras. Immediately afier receiving his
medical degree, Venkataswamy served as a physician with
the Indian Army for three years.

Venkataswamy was permanently crippled by rheumatoid
arthritis at age 30. He trained as an ophthalmolegist. In 1956,he
was appointed as the head of the Department of Ophthalmology
at the Government Madurai Medical College and eye surgeon at
the Government Erskine Hospital in Madura. He personally
performed over 1,00,000 eye surgeries. As a government
servant he helped develop and pioneer the concept of eye camps
and received a Padma Shri from the Government of India in

1973.

In 1992, Venkataswamy and partners of Aravind founded
Aurolab, an internationally certified manufacturing facility that
brought the price of the intraocular lens down to one-tenth of
international prices, making it affordable for developing
countries. Today, Aurolab manufactures ophthalmic
pharmaceuticals, instruments and equipment, in addition to
intraocular lenses, and exports to 160 countries worldwide.

Venkataswamy pioneered mobile eye camps with the
government, and later implemented this practice at Aravind.
Teams of doctors and nurses from Aravind regularly visit rural
villages where they conduct 'eye camps' that screen patients for
vision impairments. Those requiring glasses receive them on
site. Patients requiring surgery are brought back to an Aravind
hospital, where they receive surgery, room and board, return
transport and a follow up visit at no charge. Each year Aravind
hosts over 2,500 camps, averaging 40 camps every week with
500 community partners.




SubQuestion No : 18
@1 From which place did Venkataswamy obtain his MS in
Ophthalmology?

Ans 5 1. Government Medical College, Madurai

Question ID : 162653689

« 2. Government Ophthalmic Hospital, Madras
/< 3. Government Erskine Hospital, Madura
/< 4. Stanley Medical College, Madras

Comprehension:

Read the following passage and answer the questions given
after it.

Govindappa Venkataswamy (1 October 1918 — 7 July 2006)
was an Indian ophthalmologist who dedicated his life to
eliminate needless blindness. He was the founder and former
chairman of Aravind Eye Hospitals, the largest provider of eye
care in the world. He is best known for developing a high
quality, high volume, low-cost service delivery model that has
restored sight to millions of people. Since inception, Aravind
Eye Care System (a registered non-profit organisation) has seen
over 55 million patients, and performed over 6.8 million
surgeries. Over 50% of the organisation's patients pay either
nothing or highly subsidised rates. Its scale and self-
sustainability prompted a 1993 Harvard Business Case Study on
the Aravind model.

Born on October 1stin 1918 in Tamil Nadu, India, Govindappa
Venkataswamy was the eldest of five children in a farming
family. He walked two kilometers to school each day and his
early lessons were written in sand from the riverbed. There
were no doctors in his village, and by the age of 10 he had lost
three cousins due to some complications. The untimely deaths
spurred his decision to become a doctor. As a young man, he
followed the teachings of Mahatma Gandhi, Swami
Vivekananda and Sri Aurobindo. In 1944.

Venkataswamy received his medical degree from Stanley
Medical College in Madras, graduating second in his class. In
1951 he qualified with an MS in Ophthalmology at Government
Ophthalmic Hospital, Madras. Immediately after receiving his
medical degree, Venkataswamy served as a physician with
the Indian Army for three years.

Venkataswamy was permanently crippled by rheumatoid
arthritis at age 30. He trained as an ophthalmologist. In 1956, he
was appointed as the head of the Department of Ophthalmology
at the Government Madurai Medical College and eye surgeon at
the Government Erskine Hospital in Madura. He personally
performed over 1,00,000 eye surgeries. As a government
servant he helped develop and pioneer the concept of eye camps
and received a Padma Shri from the Government of India in
1973.

In 1992, Venkataswamy and partners of Aravind founded
Aurolab, an internationally certified manufacturing facility that
brought the price of the intraocular lens down to one-tenth of
international prices, making it affordable for developing
countries. Today, Aurolab manufactures ophthalmic
pharmaceuticals. instruments and equipment. in addition to




a a a

intraocular lenses, and exports to 160 countries worldwide.
Venkataswamy pioneered mobile eye camps with the
government, and later implemented this practice at Aravind.
Teams of doctors and nurses from Aravind regularly visit rural
villages where they conduct 'eye camps' that screen patients for
vision impairments. Those requiring glasses receive them on
site. Patients requiring surgery are brought back to an Aravind
hospital, where they receive surgery, room and board, refurn
transport and a follow up visit at no charge. Each year Aravind
hosts over 2,500 camps, averaging 40 camps every week with
500 community partners.

SubQuestion No : 19

Q.1 i .
o This passage is passage. Question ID : 162653687

Ans &< 1. a narrative
/< 2. an argumentative
/< 3. a literary

« 4 a biographical

Comprehension:

Read the following passage and answer the questions given
after it.

Govindappa Venkataswamy (1 October 1918 — 7 July 2006)
was an Indian ophthalmologist who dedicated his life to
eliminate needless blindness. He was the founder and former
chairman of Aravind Eye Hospitals, the largest provider of eye
care in the world. He is best known for developing a high
quality, high volume, low-cost servicedeliverymodelithat has
restored sight to millions of people. Since inception, Aravind
Eye Care System (a registered non-profit organisation) has seen
over 55 million patients, and performed over 6.8 million
surgeries. Over 50% of the organisation's patients pay either
nothing or highly subsidised rates. Its scale and self-
sustainability prompted a 1993 Harvard Business Case Study on
the Aravind model.

Born on October 1stin 1918 in Tamil Nadu, India, Govindappa
Venkataswamy was the eldest of five children in a farming
family. He walked two kilometers to school each day and his
early lessons were written in sand from the riverbed. There
were no doctors in his village, and by the age of 10 he had lost
three cousins due to some complications. The untimely deaths
spurred his decision to become a doctor. As a young man, he
followed the teachings of Mahatma Gandhi, Swami
Vivekananda and Sri Aurobindo. In 1944.

Venkataswamy received his medical degree from Stanley
Medical College in Madras, graduating second in his class. In
1951 he qualified with an MS in Ophthalmology at Government
Ophthalmic Hospital, Madras. Immediately after receiving his
medical degree, Venkataswamy served as a physician with
the Indian Army for three years.

Venkataswamy was permanently crippled by rheumatoid
arthritis at age 30. He trained as an ophthalmologist. In 1956, he
was appointed as the head of the Department of Ophthalmology
at the Government Madurai Medical College and eye surgeon at




the Government Erskine Hospital in Madura. He personally
performed over 1,00,000 eye surgeries. As a government
servant he helped develop and pioneer the concept of eye camps
and received a Padma Shri from the Government of India in

1973.

In 1992, Venkataswamy and partners of Aravind founded
Aurolab, an internationally certified manufacturing facility that
brought the price of the intraocular lens down to one-tenth of
international prices, making it affordable for developing
countries. Today, Aurolab manufactures ophthalmic
pharmaceuticals, instruments and equipment, in addition to
intraocular lenses, and exports to 160 countries worldwide.

Venkataswamy pioneered mobile eye camps with the
government, and later implemented this practice at Aravind.
Teams of doctors and nurses from Aravind regularly visit rural
villages where they conduct 'eye camps' that screen patients for
vision impairments. Those requiring glasses receive them on
site. Patients requiring surgery are brought back to an Aravind
hospital, where they receive surgery, room and board, return
transport and a follow up visit at no charge. Each year Aravind
hosts over 2,500 camps, averaging 40 camps every week with
500 community partners.

SubQuestion No : 20

Q.2 tihi : T &
5 Which statement is NOT true according to the passage? Question ID : 162653691

Ans o1

He founded Aurolab to bring down the price of the

intraocular lens down to one-tenth of international prices:.
X2

Venkataswamy pioneered mobile eye camps with the government,

and later implemented this practice at Aravind.

X 3

He founded Aravind Eye Hospitals, the largest
provider of eye care in the world.

X 4

Venkatasamy personally performed over 100,000 eye surgeries.

Comprehension:

s f&dr 71T aTg@rer FF 9EH IO T WeAl & 3ok AT

SRR Fd # e A e 1 g7 @ Fmie
woTe & fafiea gigsor 9, #ifae Foost Uq, @ #ifag gm
it o efcefas ares R 3o F FeeAT sar AEE JEapr
Aee forEm| aHETas FAERT W Aks o aer #
TEHATAUT A, ITEATYT 30T FAT TIeH THT g1 =
Wﬁﬁﬁﬁﬁﬁ?@?ﬁ?ﬂmﬁﬁaﬁﬁuqnuéﬁﬂlc*ﬁlﬁl
SE FHT THITRAT F1 8 FEel g3 AR IRAT A @ o
YHIE S & A #1 &7 S fegwrer g AR 97 S
HiETHSTo |

SubQuestion No : 1

@ TUHE ST & ATCH & 8T T T Question ID : 162653697




A 1 T
v 2 e BT g
X 3. 31
X 4 HESH

Comprehension:

e fedr 71T STearer F 9EH I8 T WAl & ek ST

SHEEr Fa 7 faEie des oes &1 g7 @S
vaTe & Afafed ghgsor 9of, afae goont d4a, ¥ ifde o
afg o ot aes o 3o F FercAT gar ATEeE JEaer
Aew forET| aEfas TR W Aes foms aer &
FEHARTA0T A, IIGATYT 3T FAT T THE gl =
TAFAR T & gl i amfae gl yr F aKs o
ST §AT THITRAr @ 8 Soore g3t 3R 3 e v o
TG ST o HATeh! T 8T T gegerer ¢ AT W S
FETHF |

SubQuestion No : 2

Q.2 Cr=i-| T FIT HHTSF JCF o@a arer & 9?1@' %’7 Question ID : 162653696

e XK. ds ifeee g
v 2 TUZATT 39
< 2 aifaeg geoer od
X 4 giyepeuT U

Comprehension:

frer fad 1T T1gamer FF TR T MY WRal o 3cd{ Q=T

SR Fa # e aes e @1 g7 W T
ToE & Hafea gipsor 9, fde geoer 9a, O aifag o
afe & XfAefde aes o ‘33 & A $a1 A AU
Aee forEr| amfas gATEEt W Aes oEa ae J
TEHARTAUT A, ITGATYT 3T FAT T THT g =
TAFAR FAT 7 Wagfae AT et el 9R & aes o
ST FAT THITRAT F1 o FErel g3 AR IRAY Aew @ o
TG S % dAee T 8T W Fegwre g AR 9 S #
FETHFTe |

SubQuestion No : 3

a3 Eﬂ'ﬂﬁﬂfl’ T H ﬂiel' GIFCIRC T a1 1@"? Question ID : 162653693
e nfaetae

X 2. e

< 3 weufas

X 4 mraTTeE

Comprehension:




srr f&r 1T TgaTer F TgH O T WeaAl & 3ca} ATl

SR Fe # fAEiE des e 1 g7 W T
gaTe & AfaRed ghgsor 9eft, Mfae gooey d4a, Js e o
afe @ efaefaes aes o 3o F FgeAT sar AFd Jaer
e forgT| amETes TR W Aes o aer &
FEHARTACT A, ITGATT 3T FAT TG THE g1 =T
mﬁﬁmﬁmﬁﬁﬂ*néﬁﬂm¢ml
SET TAT THIhAT #1 o Soola g3 AR YA Aes o7
TG S % dAee T 8T W Fegwre g AR 9 S #
FETAF |

SubQuestion No : 4

s HETeHAT THT A fhae forar? Question ID : 162653694
Ans K 7 WWT m

X 2 TAGAR TAT

K5 IR TG

L AR-T'}

Comprehension:

e fodr 71T sTearer # 9EH I8 T WAl & 3eak G|

DR I H Vdelias Alcs o #T g7 @Il F7eT
e & Al s 9, fdT geoer 9a, &S AfEg oW
it F efoef@s ares o 3o F FecAT 34T A Jar
Aee orET| AETs SRR W A (fores arar J
SeHIARAeT 35, AT 39 TUTSfERE THW & | o,
TAFAR T & gl i e gl yr F ars o
ST §AT THITRAr @ 8 Soore g3t 3R 3 e v o
TG ST o HATeh! T 8T T gegerer ¢ AT W S
FETHF |

SubQuestion No : 5

O = 7 ¥ FiF MEie s e Tw & 9mw 82 Question ID : 162653695
Ans K 1 giaﬁm

X 2. TUGATYT 319F

v 5 FEER AT

< 4 meEeT A

 Frem frg weR @ RO &2 Question ID : 162653702
Ans .K, 1 5 ﬁ

< 2 gf@mT e

W 3. TUTdT=Ich

4 g
a7 HTAEr @ e T @TITI'? Question ID : 162653709
s K. e




X 2 grTTaTdr
/< 3. S=T
v s

*® RrafafEm & oF @ awa = ¥

Ans

& 1. 2frer el TR ¢ @ ATl

Question ID : 162653711

v 2 e 3ot e o g gmer ¢ &

X 3

STel Agey g § 36 ueR FEAEY o ¥

X 4 gg T SO TG THeA €

Q.9

Ans

AT & S Qe Pid AT 2 &7

v S
X2 $
X 3 AT
X+ s

Question ID : 162653700

00 e F & FiF @ e Aer F gdmEEr G8 i

Ans

< 1. giohr
X2 ah

X3EIT-[7.IT
v 4 T

Question ID : 162653708

Q.11

Ans

ferafofaa 7 ¥ ®la @ g = &

X 1. Hege
v FEE
X o Teaw
< 4 O

Question ID : 162653705

dd

Q.12

Ans

‘UegeT H id I AH &7

X lag

X > FEGE
v 2 sregdraTa
X 4 faqg

Question ID : 162653704

Q.13

Ans

EgE H SUTT §7

X1\
v 2 HH
X3 g
Koo Jqd

Question ID : 162653706

U rmwE T e g

Ans

A1.3d + A
23+ Ad
K3 3 + AT
X4 3 + HAJ

Question ID : 162653703




Q.15 &
N F UeTd FT 7 Question ID : 162653707

Ans X-I_ ma.
<2 3T
VR |
Xaa

Q16 B F ¥ ‘S T T T @ & T T M P A @? Question ID : 162653710

Ans xl m
<2
|
X4 e

VV Grrafafta & addh & T ¥ Y= oee T @ Ee Question ID : 162653712

Ans x1' Earﬁ::r;jl_'r
v Fhe
X 2 gl
X+ g

Q.18 ﬁﬁﬁﬁ?—f ﬁ a=d Uq= a.-,‘ra- =T %? Question ID : 162653699

Ans 1 OB
X2 BT
V'3 BT
< 4 o

" gEer TRE W Hr g=T &2 Question ID : 162653701
< 2 =oferaraes

< 3 afoarees
4 ATIETER

O et § aouw e HiT T 7 Question ID : 162653698

Ans (14 a.q?ﬁ
X 2 grften
X 3 gE
X 4 Erareh

Section : Subject Related

Q.1 @& 3 & o far eeqraet & WY worr FE Ae W A, FEfrar gan iR ug W@ o o frw uew &
e o1 el W @ & Question ID : 162653721

e wmard g
X 2 "AT giEHE
X 5. 3raafee giEaeT
X 4 Orfcrer giagaar

Q2 comfr Rreor F WTATSE Targ I sTTEr S ofre Question D : 162653723

Ans X1 Rymire




< 2 T
K3 TR
v & THEER

"~

Q.3

Ans

gheel & agamar ere o frme uwafew Rear ar?
K13 dr RremE

v § ma uiafze

A3 Ten TR

K 4 grag amEe

Question ID : 162653725

Q.4

Ans

R
X . giEEeT & 2@ BRe e

v 2 gTEFET & T FRE e

X s ghewn & & FRe BEE

X o GrEFT F agITIE =

Question ID : 162653726

Q.5

Ans

T 6 FN oI T T i ReaTa Uzen UWHE ST ¥ THS MU FET F Faw wfw fReard ud € e
Oy feTent T T &1 BT AT B

Ko

HUS AET-TaT B HERT e =Ear B
v 2 yEfer '@ ofE

X3 gl ¥ uig

X 4. 375 3 Ul @ =ed

Question ID : 162653716

Q.6

Ans

Qe g e (Play Way) fafer ot F Fan fasfaa ad B

X . Faer TETCHAE
< 2. Faer ARG TEE
X 3. gl WTOeTcHAT fa@rg

2
TTaTcHd, WTaareas AT o fem

Question ID : 162653719

Q.7

Ans

FETHT F ravor T v o A fRare
<1 ufafEes

v 2 TR

X3 i #ead

X 4 e

Question ID : 162653722

Q.8

Ans

T & ¥ olF 31 vur Retor & e g2
X 1. gtz e vomeh

< 2 FEfaE

X 3 FHATAUTE

v o TRvemenE

Question ID : 162653715

Q.9

Ans

Aaa foprg & usiT (S18) F4T 7

X . OTETCHG, ARG AR HaaTcHS
X 2 miiRes, HaAeHE AR FAEAHE

X 3 emiifyes, FEtee R HadTcHs

Question ID : 162653730




v i FEde R, deeess AT e

Q-‘] 0 According to Piaget’s Cognitive Development Theory, a child is capable of logical thinking in the

Ans

period.

Question ID : 162653732

« 1. concrete operational

/< 2. pre-operational
/< 3. sensory motor

/< 4. formal operational

Q.11

=OTthcd &1 HAdold 4T %.'? Question ID : 162653727

M T wafs & oay & w@f U
X 2 MR, FAEfaE AR FHASE T
X 3. MY, HraaTcHE AR THESE U
X 4. i HR FAEEE g

Q.12 aﬂg{ﬂﬁmﬁaﬁﬂ?w&m4&:@#%3ﬂraﬁmmﬁﬁr4ﬁz%mm;ﬁmm%swm?s

T AT T S E? Question ID : 162653731
Ans X 1 H_ci;
- HTITHATHD
X 2 3FET Th
< 3 Tt ¢
(4 fam L
CladlAAlcHen dch
Q13 Tn human beings, the direction of development is: Question D : 162653729
Ans

/< 1. Distal — proxomo
/< 2. Caudal to cephalo
« 3. Cephalo to caudal
/< 4. Only cephalo

Q_‘l 4 M. Sajid the Social Studies teacher gave an assignment to his students — “How to avoid
teacher wanted to promote thinking.

uestion ID : 162653728
Ans

#< 1. both convergent and divergent
/< 2. convergent

W 3 divergent

/< 4. intelligent

.15 -
Q olietor AR gﬁ foreqor o TaEg Toroe Tasfaa frar une? Question ID : 162653717

s op1 §. Te. AT (E.L.Thorndike)
< 2 @F (Kolb)

X 3. gfas TMmEaT (Howard Gardener)
F
ICICE P é‘ . AT (William E Herrmann)

Q16 \What does divergent thinking tests? Question 1D : 162653724

Ans 3 1. Intelligence
« 2. Uniqueness of an individual
/< 3. Single correct answer

/< 4. Memory

Q.17 fmdie & Fvmecres faem REe & 3gER 3% ufEmee =T @ st H F2 &2

e Kz -7ag

Question ID : 162653718

K212 -14 a9




Xso-2ad
viz -2 ag

Q.18 The right of children to free and compulsory education act has come into force from:

Ans 1. April 2009
#< 2. Tune 2009
o 3 April 2010
#< 4 Tune 2010

Question ID : 162653714

Q19 frrm & @ fFQ HGAERT (Hewdistic) U off e ST ¥2
e X @ vEl

X 2 gfygrsar usfa

v . gaE Harer gsfa

X 4 rETE S

Question ID : 162653720

Q.20 yr F wper Braw @ A Gl I fras o F avife fear o Tea ¥
Ans ?<'L Eﬁ

A2 grr

V'3 =T

Ko

Question ID : 162653713

Section : Subject Related

! Fw usTEe F &2

At X 1. ureuRa e eEm 3T ¥
X 2 UTgheRA S B del dad gl

X 3
UTESTRA S T AT @1 suTer e &

v o utsTEa S R 8 e g

Question ID : 162653748

*? uremrEe ¥ AYRE FT ¥

A X siew, uEfa, Hewwa
v 2
& 3. gr=En, O, eaEaaa
X 4 =g oore #R g IR

Question ID : 162653750

O g HRAT AT & 32T FAT 7
Ans ?{’1
AT AR TET ThIRoT & Hiae s &

X 2
HawrEr Ram & o Five 3 Jru Tefaa wwE
v
Tafae #R TP nhreer F B gew en At angfEdeetor i gy
X 4
Fadt scurgshdr AR amyfAdretoT & uftkar @ =

Question ID : 162653740

Q The quasi-permanent absence of the learning group is throughout the length of the learning process so that people are
usually taught as individuals and not in groups, with the possibility of occasional meetings is the main characteristic of

Ans 3¢ 1. Web based learning

Question ID : 162653737




/< 2. Online education
/< 3. Virtual learning

« 4 Open and distance learning

Q.5 i ' -
T T T e F T g=a e A ¥ fre it @ sudhr e i Question ID : 162653733

P I
X 2 MET JegHee fafd
X 3 WRRT Heggee fafer
v« gftetor 3T I Rafdr

Q6 Equalisation of Educational Opportunities, Identification of Talents, Work - Experience and National Service and
Science Education and Research are the recommendations given by: QUeStiOn ID : 162653739

Ans  of 1. NPE
/< 2. Kothari commission
/< 3. NCF

/< 4 Education Commission

Q.7 ‘=iFw ez =1 P w7 ¥ A & S, Teite T F g, ffice St (orife T ]
FrraTeRE) ¥ 03T o f fer fr o2ty it snww W o =T & BT awenae 3o fer Question ID : 162653745

ST 2
i X odipa frem
X 2 3eTH F oo e
X 3. ATk foram
v o T e

Q.8

HITSE UTSMhA & HE&T 3297 &1 €7 | Question 10162653747

A 1 ot 3 e wTSeTT T
X 2 THATSS AT Bl G FEAL
X3 FAET F Feora Al
X4 gt foeme famer

¥ =3 soET B UE w2 Question ID : 162653751

e X ¥ & Tmemw @
<2 gisdE & ARTHE
X AT & Aegm |
vide Wk ATaH o

.10
10 drzesgE @ qUT w9 FAT B2 Question ID : 162653744

Ans  of 1.
ubeg fag BEnfaferdia (Persons With Disabilities)
X 2
UgeE fagse Banfaferdis (Persons Without Disabilities)
X 3
Uger T Bw=8= (People With Differences)
X 4
druer foag BEfEES (People With Deformities)

Q.11 e aftE arafde T W e & a5 HT e & Feed W SR A ¥ gwet A R orgae
wﬁﬁmﬁsﬁgﬁvwmﬂm & =it & HaeRh @ @fFE e & aed 38 ualat e
e @ §7

Question ID : 162653736

Ans x1~ ﬂgm
X 2 FrEmEs




v 3 mEdETE
X 4 Tedis

Q.12 #ften Rramet f1 w21, 3RE T 3t 1w, mﬁmraﬂzfﬂminﬂ3;ﬁnaﬁﬁrﬁﬁﬁtﬁ
sieeoT, R #feamsal 3R uRaga & TFEan a8 Ta fher ol Hr Qe # v gEean g2

Ans

v FEmT BT
X 2 groT B
< 3. Rrererier B
X4 FASATET o

Question ID : 162653738

OB gyl T & R Flaw ueuEs g e
e X et

v 2 grEET HeEEE

< 3 U

X 4 g

Question ID : 162653749

Q.14 fav Ty T & FER Fadeae ORE I TEeHE TEA T FE F FE JHA Ao
AT 2§

Ans (1%1_%
< 2 freererar
X3 Al Ty
X 4 gerar

Question ID : 162653746

O et 3 U AL S # aer FmoEe |

Ans X 1. gt fareRr
&< 2. f3reTeRr P TrETaT

Question ID : 162653752

v s gfEadr g
X 4 STEr FT eI a a

Q.16 g%;?z;;zzis%g;;fgiigigggmEwﬂiﬁﬁrwmazﬁamnwmauﬁa%quawﬁ$1?uaﬁrﬂ
Ans X1 Rrferer &

v agaEpias g

X 3 =ofrea fAder

K 4 agardr fader

Question ID : 162653741

17 uidfss & JegrEt T WrEe WY T T U usar & des & uRea F R ween dt
Q Harﬁrqﬁmwutgg?ﬁﬂ%l§Hwa%a%awrwasmﬂ?¢

Ans X1 sremre & R
< 2 ufafmar # e
V'3 gyra @
X 4 gl Fr fafer

Question ID : 162653734

Q.18 =it Renfiat @@ ug=rt & fow Ram qomsh & e & FAsgy FE B ORFIT B FA F A4 E?

Ane o1 gaTerehr fRram
X 2 mehrga e
< 3 TaeTeRar marfya fRrem
X 4 gterer amenfra fEram

Question ID : 162653743

Q.19 mtﬁnﬁhtﬁﬁﬁauﬁ3m'g$a#ﬂm§ﬁaﬁt§%zwmﬁm1Hhamﬁﬁ'wﬁﬁ:mﬁ%éﬁ&nﬁﬂﬁ#ﬂWTvﬁé

s 1 R daeasierar

Question ID : 162653742




&< 2 BT gAEar
X 3 o gegar
<4 T g AT

Q.20 forax Rew & B wmEhor gt 3 Hed H FUTA F F 9= Fee T6G dgrar 3 & o sern e

Ans

<1 Afger R

X 2 forgeer 3R stfaard e
v o dig e
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Q.19 Growth spurts are prominent in hands and legs of early adolescents due to development.
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Q.19 The direct involvement of primary school teachers in school management process is eXpec
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